Discrete Structures I
Exam 2 make up (May 9, 2012)

1. Let A ={1,{1},{1,2},9,{¢}} . Answer the following by True or False:
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2. Give an example of a function f : Z — Z that is 1-1 but not onto.
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3. Show in details that if f: A — B and g : B — C are both onto, thensois fsy: A - C
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4. Let f:Z x Z — Z be defined by f(m,n)=m? +n
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5. For which numbers z and y is it true that [z + y]| = [2] + |y) ?Explain
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7. If f: A— B be 1-1.Show that f(SUT) = f(S)U f(T), where § and T are subsets of A.
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8. Show whether or not f = O{f * g)
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9. Evaluate in an efficient way Z (3i% + 5i + 4)
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